304 BRI E

M1.6%#3--M1.6*16F 3

Wi 4% 71 # #}886-3

~-5753170

W4 7 WL (1 #5) 86-21-34970699
JE 4% 77 L - () 86-755-83298787

Http://www. 100y.

com. tw

A 5514304 DINO1 2[4 7

M2*¥3--M2*20F 71

M2,5%4--M2,5%25F% 31l

M3 *4--M3*50% 7

M4*6--MA*T70 R3]

M5*6--M5* 100 5

M6*8--M6*100% 71

ME6*100--M6*150F 31

MB*10-M8* 100755

M8*100--M8*150 %3

M10%*16--M10*150% 3

M12420--M12*150%F]

M14*30--M14* 15073

M16%25--M16*150F 3

M20%40--M20*100F 5

B

3
F A
—_— 1 B’
o
K E S
B - -
DIN912 Hex Socket Head Cap Screw Unit:mm
e Mi6G | M2 [ M25 | M3 | M4 | M5 | M6 | M8 | M10 | M42 | M4 | M16 | M20
I 035 |040 | 045 | 050|070 | 080 |100| 125 | 150 | 175 | 200 | 200 | 250
S (A7mhh) 15 | 15| 20 | 25| 3 4 5 6 8 10 12 14 17
HD (EEkmin) 20 | 362 | 435 | 532|678 (828|078 | 1273 | 1573 | 17.73 | 2067 | 2367 | 2067
K (3kfmax) 16 | 2 |25 3| 4|5 |8 g 10 12 14 16 20



Kuo
新建印章


